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xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x + )}

= xy(x + 2y)
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a=-1,b=3
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@ 2(3x+2) + (2x—1) (3x +2)
© 2x(2x+ 1) = 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4
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2)=03Bx+2)(2x+1)
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O 2x(2x+ 1) - 3(1 + 2x)
®© (x+2)(x=-1)-2(x+2)
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@ 2x% + 7x+6 = (2x+ 3) (x + 2)
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A=x-22 X5y
(x=2)x* -3 (x-2)x—10(x—2)
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x+2=X, y-3=Y 2 A&}
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A(A—4)+p=A?—4A+p

A2—4A+p=(A-2)
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ab—-6a+5b—-48 =0
b(a+5)—6a—48 =0
b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
a>0,b>00°2E g4+5>5
(i)a+5=18,b-6=1

a=13,b=7
(i)a+5=9,b-6=2

a=4,b=28
(i)a+5=6,b-6=3

a=1,b=9
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X2 -2+ 22—y = (x—2)° -y
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x2 42y -2x-3xy+3y+1

- (By+2)x+2y* +3y+1
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a’b + ab® = ab(a + b) = 12

a®+b% = (a+b)3 - 3ab(a+b) =28
a+b=X, ab=Y 2 | &sH

XY =12, X3 -3XY =28

L X=4,Y=3

watA a? 4+ b2 = X2 -2Y = 16 — 6 = 10 ©|t}.
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b=a+2c— V3ol a-b+2c=+3
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o7k x2=3y+1 Q1 2 HA| 9] B 7} 13 +2x2 - 3xy-+x—6y+2
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4222 - 3xy+x—6y+2
=x%(x+2) - 3y(x+2) + x+2
=(x+2)(x*=3y+1)
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